Practice(chapter5)

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Show your work.
1) Use the standard normal distribution to find P(0 < z < 2.25).
A) .8817 B) .5122 C) 4878 D) .7888

2) Use the standard normal distribution to find P(-2.50 < z < 1.50).
A) .6167 B) .9270 C) .8822 D) .5496

3) Use the standard normal distribution to find P(z < -1.33).
A) .7888 B) .0606 C) .0918 D) .9809

Use a table of areas to find the specified area under the standard normal curve.
4) The area that lies to the right of 0.59
A) 0.2190 B) 0.2776 C) 0.7224 D) 0.2224

5) The area that lies to the left of 1.13
A) 0.8907 B) 0.8708 C) 0.8485 D) 0.1292

6) The area that lies between -1.10 and -0.36
A) -0.2237 B) 0.2239 C) 0.2237 D) 0.4951

Use a table of areas for the standard normal curve to find the required z-score.
7) Find the z-score for which the area under the standard normal curve to its left is 0.96
A)1.75 B) -1.38 C) 1.82 D) 1.03

8) Find the z-score for which the area under the standard normal curve to its left is 0.40

A)-0.25 B) 0.57 C) 0.25 D) -0.57
Solve the problem.
9) Find a value of the standard normal random variable z, called z(, such that P(z = zg) = 0.70.
A)-47 B) -.98 C) -.81 D) -.53

10) IQ test scores are normally distributed with a mean of 96 and a standard deviation of 19. An
individual's IQ score is found to be 125. Find the z-score corresponding to this value.
A) -0.66 B) 1.53 C) 0.66 D) -1.53

11) A physical fitness association is including the mile run in its secondary -school fitness test. The
time for this event for boys in secondary school is known to possess a normal distribution with a
mean of 440 seconds and a standard deviation of 60 seconds. Find the probability that a randomly
selected boy in secondary school can run the mile in less than 302 seconds.

A) 9893 B) .0107 C) 5107 D) .4893

10)

11)



12) The tread life of a particular brand of tire is a random variable best described by a normal
distribution with a mean of 60,000 miles and a standard deviation of 1700 miles. What is the
probability a particular tire of this brand will last longer than 58,300 miles?

A) 7266 B) .1587 C) 2266 D) .8413

13) The tread life of a particular brand of tire is a random variable best described by a normal
distribution with a mean of 60,000 miles and a standard deviation of 2000 miles. What is the
probability a certain tire of this brand will last between 55,800 miles and 56,400 miles?

A) .0180 B) .9813 C) 4649 D) .4920

Provide an appropriate response.
14) The body temperatures of adults are normally distributed with a mean of 98.6° F and a standard
deviation of 0.95° F. What temperature represents the 95th percentile?
A)100.16° F B) 99.82° F C) 97.04°F D) 100.46° F

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

15) Assume that the salaries of elementary school teachers in the United States are normally 15)
distributed with a mean of $29,000 and a standard deviation of $2000. What is the cutoff
salary for teachers in the top 10%?

12)

13)

14)




Answer Key
Testname: PRACTICE-CH5

1)C
2) B
3)C
4)B
5)B
6) C
7) A
8) A
9) D

10)B

11)B

12) D

13) A

14) A

15) x = L+ zo = 29,000 + (1.28)(2000) = $31,560



